Read chapter 6.6 of [Lay], up to the end of example 1. Answer the following questions.

In Exercises 1-4, find the equation y = B, + Bix of the least-
squares line that best fits the given data points.

1.

Mok N

(0,1), (1,1),(2,2), (3,2)
(1,0), (2, 1), (4,2), (5,3)
(—1,0), (0, 1), (1,2), (2.4)
(2,3), 3,2), (5,1), (6,0)

Let X be the design matrix used to find the least-squares line
to fitdata (xy, y1), ..., (xx, ¥»). Use a theorem in Section 6.5
to show that the normal equations have a unique solution
if and only if the data include at least two data points with
different x-coordinates.



